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6.1 M F2

B sort: Ot M=
$ sort file
$ sort —r file
$ sort —k2 file
$ sort —b —k2 file
$ sort —n —k4 file
$ sort —b -k3,3 file
$ sort -n -k4 -k3 file
$ sort -t; -n -k2 file
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$ sort —m filel file2
$ sort filel file2

$ sort —u filel

B uniq: B2 = |7
$ uniq file
$ sort file | uniq
$ uniq —c file
$ uniq —f 1 file
$ uniq —w 4 —c file
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6.2 L} H|

B cmp: Ot HjW
$ cmp cdatal cdata2
cdatal cdata2 differ: byte 11, line 1

$ cmp cdatal cdatal
$ cmp —s cdatal cdata2

B diff : It XtO|™ =3 (= TR 2E)
» =3 HE|

LE O H@m
CI2R O /S 9K &3

. ESE3dE 1]

Lo ZERAC 0, YL
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o}l H| @ — diff

$ diff filel file2
addition: nlan3, n4
> (file2 =7} L{-8)
deletion: n1,n2 d n3
< (filel A H| Li&)
change: nl1,n2c n3,n4
< (filel A H| Li&)
> (file2 =7} L{-8)
$ diff -Dflag filel file2
#ifndef flag
(filel A7 H| Li&)
#else flag
(file2 =7} L&)
#endif
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patch — o} X}O|™& M &

B patch:
« diff 3O 24 02 S =0 §80I0 +E=2=2
$ diff d1.c d2.c > d12.diff
$cpdl.cd3.c ..d3.c= =0} 22
$ patch d3.c d12.diff ... patch 8 &, d3.c= ¢



$tra-z A-Z

$ tr a-c D-E < file

$ tr -c a-zA-Z '\n' < file
$ tr -cs a-zA-Z '\n' < file
$ tr -d abc < file

B fmt; I 2o XA -
$ fmt file
$ fmt -w 50 file
$ fmt -s file
$ fmt -u file

oM CHE 24 &

E NQ e 1o
L =
»E
o
2
rC
HO
Rl
o

r

3 N
rlo ol riz

Y B R
ok rjo 2 2

pLLE-
1t}
T

<

Y
J\J



HIAE B2l — column, cut

B column: 2| €= &l

$ column file L0 €2 050 28 (M2 HY LIY)
$ column —x file U ==R==R%; /S QW -

(cf) Is 2 Is -C

$ column —t file LB EE R QUQES E O E ME

B ocut: Q| A Y M, UHEE T =H
$cut—c 2-10 .. BO| 2HRY £ 108K 2APIFK| A E
$ cut —f1-3,5 —d"’ .. ZE1-3, 50 =HEE :
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LM IS e (1Ef1, 2812, 3E:(3), L2 At
N

$ paste f1 f2 f3

$ paste —d: f1 f2

:euc-kr, LT E: utf-8
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$ iconv —f euc-kr —t utf-8 han > han.out

$ file han han.out

od

780
OF

ofl
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6.4 drwelAlnf grep

B & HodAl(regular expression)
» TAE I HS LIEIL = O AFB El= #7(|E
» O QY ETFIEQ} FASEA| B FA O XpO| 7} }UZ
= Vi, grep, sed, awk 52| FH O, perl, python 52| A0{0f| A ArE

B Saio| HEtE AL

=Xt ojo| oil
de9] F =4

[ ] e Qe EAE & T 24 [abx-2z]
& I Qo] FASS AT 45 F T 4 [*abc)

. e EA71 0 o)t e a*

: =9 Al rabc

$ =9 8 xyz$

\ th3-9] oekEAe] E=% 2ju] AA \*

¢ =4+ ¢ (v]vjlelEAh pqr
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obabEl HPES A0 HEFEA}

+ o] EA7E 1Y o) vk a+
o] EA7E 0 E= 1H WA a?
| 3t o F e F s (or ALY unix|linux
() FHoll Y= oefgart 235 <o g 2§ (ab)*, (ab|cd)e
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grep, fgrep, egrep — LY HE

B grep/fgrep/egrep
» ONUOA FO|Z IjEH S oot S0 S8 (E
« Ij|HE
= grep: S HEIA
= egrep : 2 E HHEDA (grep -EQF £ 2)
= fgrep : =Xt (grep -F2t €=
» ChE O IIO| == Ao ROl AL

1

)

$ grep pattern file ...

$ grep 'pattern’ file ... Mo| HEFEXRI7F el I EIS ' ' AR
$ grep —w pattern file ... CHo] MAQF LX|St= = =3

$ grep —v pattern file ... I|E S ELSHoIX| Y= = =H

$ grep —n pattern file ... H HS & S| =3

$ grep -l pattern file ... I|E S Lstsh Ol o|E0F =&

= [
$ grep —e patl —e pat2 file ... 2 7fe| THE K|
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H sed
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-e script filel ...

$ sed script filel ...
$ sed -e script ...

$ sed -f scriptfile filel ...

> outfile

$ sed ...
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sed £l

H Yo

range d (delete) range7} A|AH3h= & Yo GAEE A4
addr a\ (append) addr7} A Ash= 3 Fof textE 41Q). text7} of2] ¢ o=
text opAje} S8 At & Bof \& E{Jict
addr i\ (insert) addr7} 2| Ash= 3 ool textE 413l
text text %42 append®} T3
range c\ (change) range7} A|Ash= 3 Yo GYAEE text2 7
text text 4] append®} 23
addr 1 file (read) addr7} A|Wdh= ¥ Fof W fileo] {8 413
range slexpristr/ | (substitute) 7gFEH 2] exprit LYA|Sh= o] AA FTALE sr= 2§
range siexpristrlg | (substitute global) AFHH4] expri} YA|h= BE FALE sr2 2|8
range w file (write) range7} A= 3 Yo PAEE fileo] A7

range p

(print) range”} A= ¥ WS GAEE SpH| &Y
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m FA0 FAY - HE
- 98 2EZ
n 3 3-62;'
/pat/ . I & pat=
= 3,10 :3aiE2H 10
/begin/,/end/ : I &

B BHAE X2t
$ sed 's/line/row/" file
$ sed '1,2/line/row/qg’ file
$ sed 's/ [ file
$ sed '5s/ */I' file
$ sed '\<line\>/row/T' file

.2 O BIZE KA
.. B0 lineg 2= At 7= BlO| X2
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sed HE HAO(A=%)

B HAE AR
$ sed '1,3d' file
$ sed '/Line/ d' file
$ sed '/line/T d' file
$ sed 'fonel/,/three/d' file

mCHE EE Yol ol
$ sed -e 's/N<</' -e 's/$/>>]' file

7Ol ALO
B O o

$ sed '$r file2' file
$ sed '10r file2' file

... fileQ| £0 file2
.. 102 £ 0 file2

ALOI

H

Al
H
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sed HE FIZ (A=)

m HAE £FQ—j(insert), a (append)

"sedl"

1i\

Inserted Line 1\
inserted line 2

$ sed -f sed1 file

"sed2"

$a\

Appended Line
$ sed -f sed2 file

. 18 90 £ = A9
. OIX2 B2 HQstn\2 By

.. OEX| 2} (%) 7lof of = & /()
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sed HE HAHO|(A=%)

m HAE HA - c(change)

1,2c\
Line 1-2 are removed
4c\
the fourth line
$ sed -f sed3 sed.in
m MEH Sl =3 - p (print)
$sed'1,2p' file
$ sed —n '1,2p’ file
$ sed —n /pat/p’ file
m oY K
$ sed '1,2w sed.out' file
$ sed —n '1,2w sed.out' file

.. 1,23
1,23

[ -1
$ sed -n -e '/line/w outl' -e '/Line/w out2' sed.in ... 2 H== 25 &



M AR E0) A ZHy 3
m sed HY YHO|S A
'sed4.sh"
#!/bin/sh
sed'
1i\

Inserted Line 1\
inserted line 2' sed.in

$ ./sed4.sh

Ital

20



